Enrollment No:

C.U.SHAH UN

Exam Seat No:

IVERSITY

Winter Examination-2021

Subject Name: Basic Statistics

Subject Code: 4AH05BAS1

Semester: 5 Date: 20/12/2021

Instructions:
(1) Use of Programmable calculator and any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch: B.A. (Economics)

Time: 11:00 To 02:00

Marks: 70

Q-1

a)

b)

9)

h)

Attempt the following questions:
Write methods of collecting primary data.

ylaMs Wl AsBd sl A wsaual

Which are the Qualitative data and Quantitative data:

Monthly income of Employee, Color, Human
ol Aotl Ul ofQUeHs HU(EAl A Avauies 1@
sIHERLl MRS uLas, Hoprloll GHR, (q, 2
Find geometric mean of 9 and 16.

9 U 16 ol IRl Heas Wl
Find a median of the given information: 80, 9

age, Gender
dl 585 82

ol

0,92, 68, 72, 63, 55

WA HIB A Hrauze And: 80, 90, 92, 68, 72, 63, 55

True/False: Mode = 2(Mean) — 3(Median)
UYMEG: GleAS = 2(HEUS) - 3(HEAA)

True / False: The probability of any event A of the sample space U is the value range

of P (A) from O to 1.

ARJAE: (A9l wastal U ofl sleFunl deell A ofl Aetcstt P(A) ofl (§:dall [Qrciz AARA

ol As Yol B.

Impossible event is denoted by

AASA Yol gl YAdAH A B,
Define: Sample space, Complementary Event
vl AWl: 1) [Real wasial R) Yrs Uzl

If two balanced coins are tossed, then find the probability of getting at least one head.
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ol A AJ@Ac RAsst Fscunl 1, Al el A As iU Anclclloll Aetcsil 0.

Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions. (14)

a)

b)

Q-3

There are 2 officers, 3 clerks and 2 peons among the 7 employees working in the cash (05)
department of a bank. A committee is formed by randomly selecting two employees

from the employees of this department. Find the probability that there are

1) two clerks 2) one officer and one clerk among the two employees selected in
committee.

alsoll 32l [QetotHl st sl 7 sHURIRAHL 2 A(@s13, 3 5150 Ual 2 Uslallol B, Al

Qewototl sHARRAHE 2WsHAL A sHARRAA udedll s As R sl
scllHl A B, UA(AHL urle spAc A saElRAHl

1) &L 512501 2) As VR3] Wal A5 512501 Slciloll Aeticlstl L.

From a deck of 52 cards, a card is randomly selected. Find the probability that the (05)
selected card

1) is a club or a queen.

2) neither a club nor a queen

52 Ul oll @il AWs U ALE(2Bs A Ule sl AUA B URE 53¢ & U]

1) scell 3 gell sl

2) sccll ot Slat Aal AR uel ot sl Aeoll Aetaotl 2.

Find the probability of A'n B" if P{4) = 2P(B) = 4P(An B) = 0.6 for two events A (04)
and B of the sample space of a random experiment.

As  AERDs YAl @Aed  wasialell 2 Yeadzll A Bl B HER
P(A) =2P(B) = 4P(AN B) = 0.6 A A A'n B' o{l detlctotl 20

Attempt all questions (14)
During last 5 years production in a factory as per following. Draw bar diagram of it. (05)
Year 2011 2012 2013 2014 2015
Production (In Lakh Rs.) 120 150 130 140 160

516 As slRulloltdl Ul a e(Ralat UAA Geuleot (Alw 3MAHE) olA Yoro B Al
Aal 209 et vuslaul % s2A.

ay 2011 2012 2013 2014 2015
GeulEet (v 3Maui) 120 150 130 140 160
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Write a short note on Direct Inquiry method for collection of data. (05)

HUEAl A 5200l Yuel dud UR gsalltl cul.
If the following information is found about the age of individuals living in two (04)
different areas, represent it by the appropriate diagram.

Age Less than 15 1510 35 3510 60 More than 60 Total
(In year) (Child) (Young) (Adult) (Qld)
Area A 480 360 240 120 1200
Area B 350 250 200 200 1000

5165 A WA WAL [ArcAlRHL 8l cAlRAAl GHR QA (1A Yre(l HBA 1A
8,cdl dal 209 wLg(A gLl 3 5.

GUR 15 flaedl 15l 35 35 ¢l 60 60 ¢l ay
. §c
(i) (cuns) (Ycllot) (aurs) (9%)
QR A 480 360 240 120 1200
Q= B 350 250 200 200 1000
Attempt all questions (14)

The data of selling (in Rs.) product in super mall during four weeks are given as (07)
follows. Prepare frequency distribution table in 8 different class distribution with the
mean value of each class.

b)

228 125 100 90 115 125 230
220 200 230 130 128 135 80

120 127 95 85 100 180 160
185 145 140 150 200 265 210

As Yu A U ¥ wsallSa eRalel A AURLetl Uissl (8212 QML) oA
yosol 8. ul HUBAA s collMi (QeulZd scl wgll [AdRutell uatl U2t (BHdt

AU 5.
228 125 100 90 115 125 230
220 200 230 130 128 135 80
120 127 95 85 100 180 160
185 145 140 150 200 265 210

The number of children per family in an area is shown in the table below. Find the (04)

mean number of children per family.

Number of children 0 1 2 4 5
Number of family 4 8 23 6 3
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Q-5

b)

As (AUl 5201€ls ollnsloll Avall o[l Aotl slresHl e2ldc B. s2uels
ollnslofl AuvaAlall Hels 2.

ollnslo{l vl

0]

1

2

3

4

5

seollell Avall

4

8

23

8

6

3

If the growth of plants planted in a nursery (in cm) is as follows, find the median of (03)

plant growth.

1.0,3.2,14,19,24,16,14,21,13,15

As AAIUL aldett Blsell gle (RQUD) 1A Yl 8, Al Blsell glaotl Htas M.

1.0,3.2,14,19,24,16,14,21,13,15

Attempt all questions

(14)

The probability that a person from a group reads newspaper X is 0.55, the probability (07)

that he read newspaper Y is 0.69 and the probability that he reads both the newspaper
X and Y is 0.27. Find the probability that person selected random from this group.

1) reads at least one of the newspaper X and Y.
2) does not read any of the newspaper X and Y.
3) reads only one of the newspapers X and Y.

il caulsal X WHOlR ciA B Aol Aellcloll 0.55 & , A WHOR Al HI2 clid &
doll ellcloll 0.69 & ol Aellcoll B ¥ A WHAUR
dellaoll 0.27 8. calsadl ul Ml WwsH urle scll Aelcstl L.

1) BNOHL WY WS WHEIR X wal Y aiA B,

2) SlEURL WHAR X Al Y iyl o2l

3) X Aol Y WM HioL As o clid B,

X Wl Y o A B Aol

For three mutually exclusive and exhaustive events A, B and C in the sample space of (07)

a random experiment 2P(A)=3P(B)=4P(C). Find P(AuUB) and P(BuUC)

As ALeRDs YL el wasialell uRruR oflalrs UA [(:AN wealizl A, B el C
w2 2P(A)=3P(B)=4P(C) &la, dl P(AUB) ual P(BUC) 20t
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Q-6

b)

Attempt all questions
The number of mobiles produced by a mobile manufacturing company in the last 60 (07)
days is as follows. Divide it into 10 classes and make distribution table

699 380
749 595
188 785
390 399
752 389
1025 825

625 653 452
1029 500 499
276 1060 760
530 540 695
1075 701 875
783 225 603

763
453
355
999
552
553

385
525
645
849
351
503

959 485
621 465
775 825
550 720
265 199
663 385

From this also prepare frequency distributions of 'less than' and 'more than'.

ol eollaldl As Ul el 50 ol Gaulld d st esctoll dvau oA

YU B. dxt 10 cdlHi @R s

699 380
749 595
188 785
390 399
752 389
1025 825

625 653 452
1029 500 499
276 1060 760
530 540 695
1075 701 875
783 225 603

763
453
355
999
552
553

385
525
645
849
351
503

959 485
621 465
775 825
550 720
265 199
663 385

970
565
235
430
370
465

970
565
235
430
370
465

Ul wg(A Qe el ‘ol e A o ‘el ay’ UsiRe] algld (ARl oletlal.
Write a short note on secondary information by published sources.

sl ylicauell gt otel MRl uR &sellul cull.

Define: Class length, Mid value
eyl AWl cldolles, Heauldud

Attempt all questions.

The following table provides information on the monthly cost of petrol for 75

families. Find a median of petrol costs in these families.

Cost of Petrol less than | less than | less than | less than | less than | less than
200 400 600 800 1000 1200
Numb_er of 4 8 ’3 o : 5
family

75 ge0lloll WlAoll HIRAS wo{l HUBAl olAotl SlresHl AAA B, uL gZollMl
RRICLIRIDCURIUITREN O

1000 | 1200
et | 2003l | 4004l | 600yl | 800 | |y
g0loll vl 4 8 23 8 6 3
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b) Find Q1, D7, P40 for information on the runs scored by a batsman in his 20 innings. (07)
32,28,47,63, 71,9, 60, 10, 96, 14, 31, 148, 53, 67, 29, 10, 62, 40, 80, 54
As Ay dell 20 lloHi 812 sl 6t eladl Ml 1R Q1, D7, Py 2.
32,28,47,63,71,9, 60, 10, 96, 14, 31, 148, 53, 67, 29, 10, 62, 40, 80, 54
Q-8 Attempt all questions. (14)
a) The following is the version of the marks obtained in the 50 marks test by twenty (07)
children selected in a spelling test of English words taken at the district level. Find the
average (mean) deviation of children's marks from this information.
Marks 0-9 10-19 20-29 30-39 40-49
Number of children 1 3 8 6 2
(Rectt st Aalldl 80A AcEll As Asell sAEHL uieoll WRAL flat cnsA
50 9JQle{l AWML ANAA dJRlef ug(A o{lA Yosol B, ul WAl uell sl sleil
aJle] URRAA (Aucet KA.
8L 0-9 10-19 20-29 30-39 40-49
wlaslell vl 1 3 8 6 2
b)  The number of bottles of cold drink sold by a shopkeeper on different days is given in (05)
the table below. Find a mode for selling cold drink bottles.
Number of Bottles 0-3 4-7 8-11 12-15 16-19 | 20-23
Number of days 4 8 23 8 6 3
A5 £5lolelR el el (B AAA st latiell cllecloll vl o{lAotl SlresHi il
8. 65t Ulaliol clleclotl Qugloll olgets A,
dlecle{l Avaul 0-3 4-7 8-11 | 12-15 | 16-19 | 20-23
(2 ol vl 4 8 23 8 6 3
C)  Write the benefits of mode. (02)
HEASoUl ALl Ul
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